Section X.5 Homework

ORAL:

1. Determine the base-10 form of the following

2. Compute the following (without converting to base-10)

(a) 42357811 + 34289y,
(b) 1000101015 — 101110,
(c) 1011, x 101,
(d) 4540 X 8729

3. Convert the following base-10 numbers into the given base

597 to base 4
1239487 to base 16
89 to base 3

9332 to base 9
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(d

—_ = D

4. Convert the following p-adic numbers into rational numbers of the form ¢.

(a) ..222215 = 213

(b) ...44445 = 14,

(c) ...261261261; = 261,
(d) ...131313425 = 13425

WRITTEN:

—4
5. Give o a2 7-adic number. (Hint: Determine g through division, then subtract 1)

6. Use the previous problem to solve 92 = —4 mod 74



